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The figures in the margin indicate full marks
Jfor the questions

1. Answer the following as directed (any ten) :
1x10=10

wors TR ot SR Bew e (R e wedt) -
(a) Write a unit matrix of order 3 x3.

3 x3 T Ol GFF (T o1t |

(b) If the two rows (or columns) of a
determinant are identical, the value of
the determinant will be (zero/one).

( Fill in the blank )
T o1 FRYRFR 7B R (I TS) G H, (3
iR I LI ([1/99) |

. ( AR IR R )
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(c)

(d)

(e)

(9)
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(2)

All  differentiable functions  are
continuous, but not all continuous
functions are differentiable.

( Write True or False )

STl e TR, SR o, e e
S TR, a2 |
(1% (1 ST fereln )

Is (AB)' = B’A’ correct?
(AB) = B'A’ 8% TG ?

Every  homogeneous function is
homothetic, but all  homothetic
functions may not be homogeneous.

( Write True or False )

oo TP el TRl =, (67 e T
TG, AP T R A8 AT |

(Wﬁwﬁ'«ﬁ)

Define idempotent matrix.

o (e W il |

Having an objective function with two
explanatory variables and one equality

_ constraint, the order of the second-order

bordered Hessian determinant will be

s

(h

(i

()

( Continued )
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I 3 G i ki &

R

) 2x%2
(i) 3x3
(i) 4 x4
(iv) 2x3
( Choose the correct answer )
( o Teqehl T2 Bferear )

What is the rank of a null matrix?

401 R AR oS 5 209

2 2 . L
Is x* +y“ =1 an implicit function?

x? +y? =1 b1 IR Fom 27 2

If I is a unit matrix, then 5I will be
3 1 961 933 (T 2, (908 5127
(i) a triangular matrix / <O
faséy
e ' :

(i) a unit matrix / 95 GFF CNEFTFT
(iii) a scalar matrix / 96 S e
(iv) a vector / bl st T
( Choose the correct answer )
(% Teqehl AR Sferear )
{ Turn Over )




(4)

A e
1 ?
(k) What is the trace of the matnx[l 3]_
[5 Q]Wwﬁsi’m
1 3

() The solution of a differential equation of
first-order consists of
oo o1 SRR AT LTS
(i) complementary solution / "lﬁ"ﬁ?
FHATHA
(i) particular solution / TRoE T
(i) Both (i) and (i) / (i) < (i) !
(iv) trial solution / ]l A
( Choose the correct answer )

( % Teehl R Sfered )

(m) Define saddle point.
opfier famga et foea |

(n) Difference equation is used in discrete/
continuous time analysis.

e /oo T RerTe oo SRR TS
ELl ( Choose the correct option )
( g sl TR S )
(o) Cobweb model is very appropriate for

TR SECH @R R
(i) agricultural products

FRETS TR IE
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(5)
(i) industrial products
ST TR IR
(i) Both (i) and (ij)
(i) SF (i) 6!
(iv) service
Ol NAR A3
( Choose the correct answer )
(o= T@ah! AR Sfereay )
Answer the following questions (any five) :
2x5=10
et Al enpTEs el fagn (R e “ff5or)
(a) Give an example of a diagonal matrix.
<61 el (e S foa |

(b) Prove that for any scalar A
MA+B)=2A+AB
R e wifer T A3 309 299 7 @
A(A+B)=AA+AB
(c) Give an economic
Lagrange multiplier.
FNG B FLLANST AT ST |

interpretation of

(d) Define vector space with example.

GrRIPTR A Fed ke i |
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(61
, (7)
(e) Find the nor™ of the folloWIRE Matrix
e ST
et [l e (b) Evaluate the following determinant -
3 ‘ GoT® :
A=|6. 4 12 | ® fdl et T ety o -
5 3 10 | x 50
| 3 y 2
9" =148

rtemporal equilibrium.

(c) Find the extreme value of the following

li| Define inte |
g S T fre | |
i function :
(g) Find the rank of the following AN | TS R TR S T fcty =44 -
34l { i 2
Wwﬂﬁﬁﬁﬁ Z=x?+xy+2y® +3
L HN = |
A= [ | d .
k 15 9 ] | { ) Find A2 3
. e e SA+7I from the following
. ti .

(h) Define homothetic function  With TS ol (MR o’ A2 —54+77 Biefq
example. . FH1: ;
ST T T R fiea | 21302

a _[5 —1:]
3. Answer the following questions (any four)S: | (¢) Determine whether the fof
X4=: ! . . c 0 1 i
2000 function is homogeneous. If so Ofo‘\:}lln E
v fral PPTRd g frm (R @ BIfGI) degree? ) at
T T ey
el
(a) Prove that =113 C\‘sﬁm "?T ™ 7=, g
o 9 A i ;
N(AB) £ N(A) N(B) Fille g ) = X
w
' Conti
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function f (x) is

() Prove that if oint ¥ =6 then f{x)

differentiable at taxP= .
is continuous a

ﬂ’—ﬂq f(JC}:

wfifiere 29!

Given X' =[x X2
column vector

(9)

the Cobb-Douglas production

Q-_-AKOLL[} is

production IR

Prove that
ﬁmction
homogeneous
a+p=1

o 1 1 A 0P
o T Q = AK

(h)

linearly
if

a

= 1 1‘&’ C\—Q—C@ a;’q—gw
arf g1 FAERS TG

questions (any yaut)’

4. Answer the following 10x4=40

i imple national
the following S e
i isrfézfne model using the metho

] Cramer’s rule at'ld i 5+5=10
inversion :
( Continued )
22A/1098

(9)

OO Tl T Wy o
TS we

I 47 -

SR (1) o
MM Mo o

Y=C+ Iy +G,
C=a+py (@>0, 0<b<1)

(b) A Price discriminating firm has the
followmg average revenue functions :

P, =105-50,

If total cost function C=20+1 50Q,

thexl1 find the equilibrium outputs and
equilibrium prices.

5+5=10

™ Reshieae a1 Seomm afodm <o TS Sy
AR O i Carg '

P, =63-4Q,

P, =105-50Q,

Py =75-60Q,
P I/ TG I C=20+150 =, (o
ST BeATT  ARTT W SR v
Sfere |

c) A monopolist produces his product in
two different plants and his total cost

(TC) function of the two plants are given

by i
TC =10-20, +Q?
TCy =15-6Q, +202
22A/1098
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(11 )
( 10 ) () Solve the following firgy o\ difference
. equation : ‘
nue (AR) function TS Tl SRy -
e e e e
gmnbi aximizing OUtPULS; 5+5=10 Yart e =1, oty
(i) profit m |
o imum profit. TAMT |
(i) max o B fon dTHO (9) The consumer’s utility functiop and
G ‘ﬂ;zqcsgmﬂ 1C)FH 25 3 budget constrajnt are given as follows
I i X
hal ¢, =10—2Q1+0102 U=ISXy+9y Subject tg 6x+3y=15
2 .
TG 15 =600 £ =<2 Find out optimum purchase of x and y
=, (@ which will maximize the utility of the
=50-2Q0 %%
4f% o7 W AR = oo ARTPTER; consumer,
; T ST
(i) e ToerE CoIfAel e ACED ez
(ij) Tl e b6 implicit T T fi o -
)=0 use the :
(@ For each F(xY 49 Siat U=18x+9y MoAcw 6x+3y=15
find == -
function rule to dx o o Sorcererr Soqfare THifeT e AR x =
g ¥ oS 1 | Y STER @ Rt 2 i, ety 2
RS o 9 et 70 :
=0 T
F(xy) =0 dx 5 (h) A producer’s cost function (€) and
Flxy)= y-6x+7= production function (Q) are given below.
©) S s xy+4y" = Find the optimum combination of
(@) F(xY) = D ks inputs [labour (L) ang capital (K]
e €
the  following & in order to minimize the cost of
(e) Solve . | production
tion : :
f:iaﬁm o TR T C=2L +4K subject to Q = 813 k¥ — 64
Oe\D
=2
i 22A/1098 g
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(12

G BAN I T (C) AT TR T
g) oo il @Rl T WP R A
RTER S [ (L) W e (K)[
e At 5 2’3, fefy 0 N

C=2L+4K “Meice Q=8LK? =64

() Find equilibium income  (¥),
consumption (C) and tax revenue (T)
from the following simple national
income model :
woe i SR WoN SRS ¥ o[l SR
g (7), o T (C) % 9 992 (T) By

9
Y=C+Iy+Gyp
C=200+0-8(Y-T)
T=50+0-3Y
I, =500
G, =400
() Analyze the following market model for
stability :
woTs Tt e SR RISl R 74 :
Q4 =14-3P
Qs =-10+2P

P _4(00, -
o 4(Qq - Qs)

* % K,
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